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1.  Explain the meaning and definition of Public Finance. Why does market fails to provide
public goods ? 14
OR
(A) Describe the main characteristics of Public goods and Private goods. 7
(B) Explain spill over cost and spill over benefits. 7

2. What is Deficit Financing ? What are the advantages and disadvantages of Deficit

Finance. 14
OR

(A) Explain the sources of Public income. 7

(B) What are the effects of privatization of public sector units ? 7

3. What do you mean by tax incidence ? Describe the factors effecting the incidence of

taxation. 14
OR

(A) Describe the effects of taxation on distribution. 7

(B) Explain the tax theory of ability to pay. 7

4.  Explain the arguments about burden of internal public debt on the future generation. 14
OR

Write a note : (any two)

(a) Effects of Public expenditure on production and income distribution.
(b) Meaning and types of public debt.

(c) Causes of increase in public expenditure.

5. (A) State whether following statements are true or false. 4
(1)  All merit goods are private goods.
(i)  Surplus budget helps to miligate depression.
(iii)) Budgetary deficit does not create new money.
(iv) Regressive taxes reduces income in equality.
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(B) From the options given in the following questions, choose the correct one and
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write the answer.

(1)

(ii)

(i)

(iv)

v)

(vi)

(vii)

(viii) If the public debt subscribed to by the citizens of the nation, it is a case of

(ix)

(x)

Which of the following is subject to exclusion principle ?

(a) Defence (b) Flood control

(¢) Judiciary (d) Housing

Which of the following is a case of public goods ?

(a) Cloth (b) Food grain

(c) Defence (d) Housing

Under which situation, deficit budget is desirable ?

(a) Boom (b) Depression

(¢) Inflation (d) Prosperity

If the impact and incidence are on different persons, the tax is called
(a) Progressive (b) Proportional

(c) Direct (d) Indirect

The burden of Public debt is born by the present generation. This is the view
of

(a) Buchanun (b) Lerner

(c) Pingou (d) Keynes

Excise duty is an example of

(a) Tax on gift (b) Tax on land

(¢) Direct tax (d) Indirect tax

10

When Government borrows money from people, the purchasing power of

people
(a) getreduced (b) getincreased
(c) getexpanded (d) remains the same

(a) Internal debt (b) External debt

(c) Long term debt (d) Short term debt

Tax evasion creates

(a) Legal justice (b) Public revenue

(c) Black money (d) Employment

Public expenditure on education creates

(a)  Spill over benefit (b) Spill over cost

(c) Income inequality (d) Unemployment
4



